

Lanchester Laws: Model of Common War

Generated by 19930830_JEFFERSON_FRANKLIN_RICHARDS on October 27th, 2018

June 9, 2019

$$\left\{ \begin{array}{l}
 -\alpha, -\delta = \text{operational losses } \propto \text{social capital (cohesion),} \\
 -\beta, -\gamma = \text{battlefield losses } \propto \text{scope (battle wisdom),} \\
 \eta \cos(t), \zeta \cos(t) = \text{reserves } \propto \text{material capital (supplies),} \\
 \\
 a = -\alpha; b = -\beta; c = -\gamma; d = -\delta; f = \eta; h = \zeta, \\
 \\
 \vec{X}'(t) = \begin{bmatrix} a & b \\ c & d \end{bmatrix} \vec{X}(t) + \begin{bmatrix} f \cos(t) \\ h \cos(t) \end{bmatrix}, \\
 \\
 \vec{X}(0) = \begin{bmatrix} x_0 \\ y_0 \end{bmatrix} \\
 \\
 g = \frac{a+d}{2}, \\
 \\
 \lambda = \frac{\sqrt{a^2+2ad+4cb+d^2}}{2}.
 \end{array} \right.$$

$$\vec{X}(t) = \vec{X}_h(t) + \vec{X}_p(t) = \vec{X}_h(t) + \begin{bmatrix} x_p(t) \\ y_p(t) \end{bmatrix}.$$

$$\begin{aligned}
 \vec{X}_p(0) &= \begin{bmatrix} x_p(0) \\ y_p(0) \end{bmatrix} \\
 &= \begin{bmatrix} \frac{g+\lambda-d}{2\lambda} \left[\frac{-f}{g+\lambda} - \frac{hb}{(g+\lambda-d)(g+\lambda)} \right] \\ -\frac{g-\lambda-d}{2\lambda} \left[\frac{f}{-g+\lambda} + \frac{hb}{(g-\lambda-d)(-g+\lambda)} \right] \\ \frac{(g-\lambda-d)(g+\lambda-d)}{2\lambda b} \left\{ \left[\frac{f}{g+\lambda} + \frac{hb}{(g+\lambda-d)(g+\lambda)} \right] \right\} \\ -\left[\frac{f}{-g+\lambda} + \frac{hb}{(g-\lambda-d)(-g+\lambda)} \right] \end{bmatrix}.
 \end{aligned}$$

$$\vec{X}(t) =$$

$$\begin{aligned}
 &\frac{1}{2\lambda b} \left[\right. \\
 &\quad \left\{ [g+\lambda-d][(b)(y_0 - y_p(0)) + (x_0 - x_p(0))(g-\lambda-d)] \right\} e^{(g-\lambda)t} \begin{bmatrix} -b \\ g+\lambda-d \\ 1 \end{bmatrix} \\
 &\quad + \left\{ [(x_0 - x_p(0))(g-\lambda-d)(2\lambda)] + [g+\lambda-d][(b)(y_0 - y_p(0)) + (x_0 - x_p(0))(g-\lambda-d)] \right\} e^{(g+\lambda)t} \begin{bmatrix} -b \\ g-\lambda-d \\ 1 \end{bmatrix} \\
 &\quad \left. \right] \\
 &+ \left[\begin{array}{l}
 \left\{ \frac{1}{2\lambda} \right\} \left\{ [g+\lambda-d] \left[(\sin(t)) \left(f + \frac{hb}{g+\lambda-d} \right) - (\cos(t)) \left(\frac{f}{g+\lambda} + \frac{hb}{(g+\lambda-d)(g+\lambda)} \right) \right] \right. \\
 \left. - [g-\lambda-d] \left[(\sin(t)) \left(f + \frac{hb}{g-\lambda-d} \right) + (\cos(t)) \left(\frac{f}{-g+\lambda} + \frac{hb}{(g-\lambda-d)(-g+\lambda)} \right) \right] \right\} \\
 \left\{ \frac{(g-\lambda-d)(g+\lambda-d)}{2\lambda b} \right\} \left\{ [(\sin(t)) \left(f + \frac{hb}{g-\lambda-d} \right) + (\cos(t)) \left(\frac{f}{-g+\lambda} + \frac{hb}{(g-\lambda-d)(-g+\lambda)} \right)] \right. \\
 \left. - [(\sin(t)) \left(f - \frac{hb}{g+\lambda-d} \right) - (\cos(t)) \left(\frac{f}{g+\lambda} + \frac{hb}{(g+\lambda-d)(g+\lambda)} \right)] \right\}
 \end{array} \right].
 \end{aligned}$$